
I=(v(in)>0)*IL

B1

I=(v(in)>0.1*v(ref))*IL

B2

I=(v(in)>0.2*v(ref))*IL

B3

I=(v(in)>0.3*v(ref))*IL

B4

I=(v(in)>0.4*v(ref))*IL

B5

I=(v(in)>0.5*v(ref))*IL

B6

I=(v(in)>0.6*v(ref))*IL

B7

I=(v(in)>0.7*v(ref))*IL

B8

I=(v(in)>0.8*v(ref))*IL

B9

I=(v(in)>0.9*v(ref))*IL
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390
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R10

430

R11

430

R14

3k9

R3

10k

R4

10k

I=(v(in)>1.25)*IL

B12

I=(v(in)>(0.1*1.25+1.25))*IL

B13

I=(v(in)>(0.2*1.25+1.25))*IL

B14

I=(v(in)>(0.3*1.25+1.25))*IL

B15

I=(v(in)>(0.4*1.25+1.25))*IL

B16

I=(v(in)>(0.5*1.25+1.25))*IL

B17

I=(v(in)>(0.6*1.25+1.25))*IL

B18

I=(v(in)>(0.7*1.25+1.25))*IL

B19

I=(v(in)>(0.8*1.25+1.25))*IL

B20

I=(v(in)>(0.9*1.25+1.25))*IL

B21

R25

130
R26

200
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R1

560
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.dc Vsource 0 5 .01

.params R1=560  IL=12.5/R1

;tran 1 uic
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This resistor
for test only

All diodes  = 1N4198 or similar
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